Efficiency vs P,

£0.45

T
9
Ul

.................................................

0.35]

eficiency vs p
o
N

o
w

+4
b

..................................

.................................................

0.25
0.2
0.15
0.1
0.05

................................................

................................................

Tt
“
@

Ratio
@
[

107 1 10 1192pT (Ge\})o3

—— DQMUTIITat_Ste; tthar-piraset-mewgeonT

—e— D M:mf( it_stepZ_tthar- ﬁjasel-new eom

== e b e iadean

—— D M_plxeTétPE nencpstepz ttbargpﬁasel-newgeom

= 0.5 T T
0 .
20.45
0.4

ciency

£0.35F
o E : : :
03F gyt
0.25F :
0.2F
0.15F
0.1,
0.05

......................

................................................

Ratio

Efficiency vs ¢

o 0.5
n .
>0.45F
0.4
£0.35F
o :
0.3F
0.25p
0.2F
0.15F : : : : :
0.2E -+ e B Peeeees e
0.05f -+ B B Peeeees oo

I TR

ciency

Ratio

15T ET T R A T




	Contents
	Page 1


